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Graph the equation in a coordinate plane. A r
4
1y = 4x 2.y=3x-2 -\-D avaon
% J )
3.x+y=5 4.y=3
5.2x+5y=11 6.y=-2x-2
Warm Up

R : : —= — N
Write the next three terms of the arithmetlic sequence. w -

1. First term: 3

Common difference: 12

2. First term: 19
Common difference: -7

Cumulative Warm Up

. . - ’ \ .
Essential Question X
| How can you use a system of linear equations to solve an equation
| with variables on both sides?

- S0 Q.
So\ -\

Essential Question
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Work with a partner. Solve 2x — 1 = _EX + 4 by graphing.

| Q;C%.\o.nm s ks ouwN
a. Use the left side to write a linear equation. ¥ [ ¢
Then use the right side to write another 4 | ' %&m
linear equation. a | |
| I |

b. Graph the two linear equations from i Y
part (a). Find the x-value of the point of =2 2 “|‘ $a A) P~

intersection. Check that the x-value is the

solution of 2x - 1 = —%x +4, . '\'»\GX\ OJ FQ{)h

¢. Explain why this “graphical method" works.

Exploration 1

Work with a partner. Solve each equation using two methods. &dmj;p—mm_&»-

| Method 1 Use an algebraic method.

Method 2 Use a graphical method.

Is the solution the same using both methods?

|
! 1 1§ 2 1
| a. x+4=-—x+ L Sx+4= —x+3
Ia 2x 4 4x 1 b 3x 4 3x
|
i
2 | 4 7
mox=1= —x -~ =X+ - =3x-
c 3x 1 3x 4 dsx 5 3x-3
e.-x+25=2x-05 f.-3x+15=x+15

Exploration 2

IC’j Core Concept

Solving Linear Equations by Graphing
Step I Tasolve the equation ax -1 b == x|l write two linear equations.

i?_a: { ;’L—f and t. --{'Y i d '

Step 2 Graph the system of linear equinions, The t-vilue ol the solution
ol the systen of linear equations is the sotution of the equation
vk b= bl

|
|

|

v d b e i od

Core Concept
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|Solve-x+1=2x—5_by_grapm1g._0h;kyoursolution. ] j—a—ta-ph bO'\'\‘\ \\.nps
Yeewk S \niecsecting _peint is

! a " b
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Example 1

Solve the equation by graphing. Check your solution. j—s—hldﬂn—\-—p&c‘hg’—

1. “x-3=2x 2, -4+9x=-3x+2

Monitoring Progress 1-2

laxyp) =\lex val  has 2

| Solve |x+1/=|2x~4| by graphing. Check your solutions.

: VER A re\
R LA TS ol BN Gxro = Cx + @&
N =%¥\

L Grogn Bosshon equarions
en  6Ae a;(‘(.o\

Graon 3™ Yoo 2q e NG
| X
X O\wass C\nech, SOWMNLONS L N - L gf'»o\

Example 2
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Solve the equation by graphing. Check your solutions.
3. 2x+2=|x-2|

L Axta = K-

Arx+d = ‘(7"3\ o
I¥rad = -+

4. [x—6=|-x+4
X-lo==¥%*%4
VYL L)
Y-l =%X"-1

Monitoring Progress 3-4

Your family needs to rent a car for a week while on vacation. Company
A charges $3.25 per mile plus a fl at fee of $125 per week. Company B
charges $3 per mile plus a flat fee of $150 per week. After how many
miles of travel are the total costs the same at both companies?

3.295% Y \3S= Iw+\SD
\3z 3. 23S %K ¥F\oS

| \3: 3y v SO

Example 3

5. WHAT IF? Company C charges $3.30 per mile plus a flat fee of
| $115 per week. After how many miles are the total costs the same A\~ .
| at Company A and Company C? Q‘D 0_ \_ LY Q ¢

Monitoring Progress 5
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Exit Ticket:
Solve the equation 3x - 4 = —;-x + 1 by graphing. Check your solution.

Bl A1

Closure







